A ball starts from rest and accelerates at 0.500 m/s2 while moving down an inclined plane 9.00 m long. When it reaches the bottom, the ball rolls up another plane, where, after moving 15.0 m, it comes to rest. 

(a) What is the speed of the ball at the bottom of the first plane? 

(b) How long does it take to roll down the first plane? 

(c) What is the acceleration along the second plane? 

(d) What is the ball’s speed 8.00 m along the second plane?

SOLUTION 
(a) Take initial and final points at top and bottom of the incline. If the ball starts from rest
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SOLUTION
(c) Take initial and final points at the bottom of the planes and the top of the second plane, respectively:
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Gives
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SOLUTION

(d) Take the initial point at the bottom of the planes and the final point 8.00 m along the second:
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